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aANT—b4 T F#Z 192 SCPIR #2400 [E1.6mm (> =) m -
AT —b4T Mz 1# SCPIR #2400 2. 0mnm (> F) m -
o ] 2 sl A S P4 2 1% SCPIR 2400 [E2 7mm (&H o =) m -
AT —b4T Mz 1# SCPIR #2500 [Z1.6mm (o =) m -
o ] 2 sl A S P4 2 1% SCPIR 2500 [E2. Omm (&> =) m -
AT —b4T Mz 1# SCPIR #2500 [E2. Tnm (o =) m -
o ] 2 sl A S P4 M2 1% SCPIR 2500 [E3.2mm (&H o =) m -
AT —b4T Mz 1# SCPIR #2600 [Z1.6mnm (> =) m Hokk
o ] 2 sl A S P4 M 1# SCPIR #2600 [£2.0mm (Ho &) m il
| 2 sl WA B4 Mz 1#2 SCPIR #2600 2. Tnm (> =) m Hokk
o ] 2 sl A S P4 M 1# SCPIR %600 [£3.2mm (H-o =) m il
AT —b4T Mz 1#2 SCPIR #2600 [24.0mnm (> =) m Hokk
o ) 2 sl A S P4 M 1# SCPIR %800 [E1.6mm (Ho =) m il
AT —b4T Mz 12 SCPIR %800 2. 0mm (> =) m Hokk
o ] 2 sl A S P4 M2 1# SCPIR %800 [£2.7mm (H-o &) m il
AT —b4T Mz 1#2 SCPIR %800 [Z3.2mm (o =) m Hokk
o ] 2 sl A S P4 Mz 1#2 SCPIR %800 [E4.0mm (H-o &) m ool
o 12 el WA N P4 M# 1# SCPIR %1000 [E1.6mm (&> =) m ool
o ] 2 sl A S P4 Mz 1#2 SCPIR %1000 [£2.0mm (&> &) m ol
o 12 Al WA N P4 M# 1# SCPIR %1000 [E2.7mm (H->F) m ool
o ] 2 sl A S P4 Mz 1#2 SCPIR %1000 [£3.2mm (H-o &) m ool
o 12 el WA N P4 F# 1# SCP1IR %1000 [E4.0mm (8> F) m ool
o ] 2 sl A S P4 Mz 1#2 SCPIR #1200 [E1.6mm (&H > &) m -
aANTF—b4 T M# 1# SCPIR %1200 [£2.0mm (&> F) m ol
o ] 2 sl A S P4 Mz 1#2 SCPIR #1200 [E2. 7Tmm (H o &) m ol
12 Al WA N P4 M# 1# SCPIR %1200 [£3.2mm (H-> =) m ool
o ] 2 sl A 2 P4 Mz 1#2 SCPIR #1200 [E4.0mm (H-> %) m ol
aANTF—b4 T M# 1# SCPIR %1350 [E2.0mm (&H > F) m ool
o ] 2 sl A S P4 Mz 1#2 SCPIR #1350 [E2. 7Tmm (H-o &) m ool
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] el WA P4 M2 1# SCPIR #1350 [E3.2mm (H-o &) m foioil
=% el YA P MRz 1#2 SCPIR %1350 J/E4.0mm (&H-o F) m foiuiol
] el WA P4 M2 1% SCPIR #££1500 [E2.0mm (H - FE) m -
=% el YA P MRz 1#2 SCPIR %1500 E2. 7Tmm (&H-o F) m foiuiol
] el WA P4 M#2 1# SCPIR #££1500 [E3.2mm (H-o &) m foioil
=% el YA P MRz 1#2 SCPIR %1500 /=4.0mm (&H-o =) m foiuiol
] el WA P4 M2 1% SCPIR %1650 [E2.7Tmm (H o &) m foioiol
=% el YA P MRz 1#2 SCPIR %1650 JE3.2mm (H-ox) m foiuiol
= ] el WA P4 M2 1% SCPIR %1650 [E4.0mm (H - &) m foioil
=% el YA P MRz 1#2 SCPIR %1800 /2. 7Tmm (&H-o F) m -
] el WA P4 M2 1# SCPIR %1800 [E3.2mm (H-o &) m foioil
=% el YA P MRz 1#2 SCPIR %1800 J/E4.0mm (&H-o =) m foiuiol
= ] el WA P4 M2 2% SCP2R %1500 [E2.7Tmm (H - &) m foioil
=% el YA P MRz 2#2 SCP2R %1500 /3. 2mm (&H-o F) m foiuiol
] el WA P4 M2 2% SCP2R %1500 [E4.0mm (H - &) m foioil
=% el YA P MRz 2#2 SCP2R %1500 J/E4.5mm (&H-o =) m foiuiol
= ] el WA P4 M2 2% SCP2R %1500 [E5.3mm (H o &) m foioil
=% el YA P MRz 2#2 SCP2R %1500 JZ6.0mm (&H-o =) m foiuiol
] el WA P4 M2 2% SCP2R %1500 [E7.0mm (H - &) m foioil
=% el YA P MRz 2#2 SCP2R %1750 E2. 7Tmm (&H-o &) m foiuiol
= ] el WA P4 M2 2% SCP2R #£1750 [E3.2mm (H-o &) m foioil
=% el YA P MRz 2#2 SCP2R %1750 JE4.0mm (&H-o F) m foiuiol
] el WA P4 M2 2% SCP2R %1750 [E4.5mm (H - &) m foioil
=% el YA P MRz 2#2 SCP2R %1750 JE5.3mm (H-o F) m foiuiol
] el WA P4 M2 2% SCP2R %1750 [£6.0mm (&H o &) m foioiol
=% el YA P MRz 2#2 SCP2R %1750 JE7.0mm (&H-o F) m foiuiol
= ] el WA P4 M2 2% SCP2R #££2000 [E2.7mm (H - &) m il
=% el YA P MRz 2#2 SCP2R %2000 J/E3.2mm (H-o =) m foiuiol
] el WA P4 M2 2% SCP2R #££2000 [E4.0mm (H - &) m foioil
=% el YA P MRz 2#2 SCP2R %2000 J/=4.5mm (&H-oF) m foiuiol
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] el WA P4 M2 2% SCP2R #££2000 [E5.3mm (H o &) m Fkok
=% el YA P MRz 2#2 SCP2R %2000 JZ6.0mm (&H-o =) m Fokok
] el WA P4 M2 2% SCP2R #££2000 [E7.0mm (&H - &) m Fkok
=% el YA P MRz 2#2 SCP2R %2500 2. 7Tmm (&H-o =) m Fokok
] el WA P4 M2 2% SCP2R %2500 [E3.2mm (H-o &) m Fkok
=% el YA P MRz 2#2 SCP2R %2500 J/E4.0mm (&H-o =) m Fokok
] el WA P4 M2 2% SCP2R %2500 [E4.5mm (H - &) m Fkok
=% el YA P MRz 2#2 SCP2R %2500 JE5.3mm (&H-oF) m Fokok
= ] el WA P4 M2 2% SCP2R %2500 [E6.0mm (&H - &) m Fkok
=% el YA P MRz 2#2 SCP2R %2500 JE7.0mm (&H-oF) m Fokok
] el WA P4 M2 2% SCP2R %3000 [E2.7mm (H - &) m Fkok
=% el YA P MRz 2#2 SCP2R %3000 J/E3.2mm (&H-o =) m Fokok
= ] el WA P4 M2 2% SCP2R %3000 [E4.0mm (H - &) m Fkok
=% el YA P MRz 2#2 SCP2R %3000 J/=4.5mm (&H-oF) m Fokok
] el WA P4 M2 2% SCP2R %3000 J[E5.3mm (H o &) m Fkok
=% el YA P MRz 2#2 SCP2R %3000 JZ6.0mm (&H-o =) m Fokok
= ] el WA P4 M2 2% SCP2R #££3000 [E7.0mm (- &) m Fkok
=% el YA P MRz 2#2 SCP2R %3500 /2. 7Tmm (&H-o F) m Fokok
] el WA P4 M2 2% SCP2R %3500 [E3.2mm (H-o &) m Fkok
=% el YA P MRz 2#2 SCP2R %3500 J/E4.0mm (&H-o =) m Fokok
= ] el WA P4 M2 2% SCP2R %3500 [E4.5mm (H - &) m Fkok
=% el YA P MR 2#2 SCP2R %3500 JE5.3mm (&H-o x) m Fokok
] el WA P4 M2 2% SCP2R %3500 J[E6.0mm (&H - &) m Fkok
=% el YA P MRz 2#2 SCP2R %3500 J/E7.0mm (&H-ox) m Fokok
aANTF—b4 T N T7—F R SCP2P %2000 [=2. 7mm m *okk
=% el YA P INM T 7—F R SCP2P %2000 [E3.2mm m Kk
12 Al WA N P4 N T7—F R SCP2P %2000 [=4. Omm m *okk
=% el YA P INM T F7—F R SCP2P %2000 [E4.5mm m Kk
aANTF—b4 T N T7—F R SCP2P %2000 [=5. 3mm m *okk
=% el YA P INM T 7—F R SCP2P %2000 [Z6.0mm m Kk
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=010 el YA B4 IS\ F7—F R SCP2P 22000 7. Omm m *okk
=1 2 sl WA P4 I\ F7—F R SCP2P %2300 [£2. 7mm m i
=010 el YA B4 I\ F7—F R SCP2P 22300 3. 2mm m *okk
=1 % sl WA P4 I\ F7—F R SCP2P %2300 [E4. Omm m i
=010 el YA B4 IS\ F7—F R SCP2P 22300 [£4. 5mm m *okk
=1 2 sl WA P4 I\ F7—F R SCP2P %2300 [E5. 3mm m i
=010 el YA B4 IS\ F7—F R SCP2P %2300 6. Omm m *okk
aNG— b4 F I\ F7—F R SCP2P %2300 [E7.0mm m i
=010 el YA B4 I\ FF7—F R SCP2P 22700 [£2. 7Tmm m *okk
=1 2 sl WA P4 I\ F7—F R SCP2P %2700 [E3. 2mm m i
=010 el YA B4 I\ FF7—F R SCP2P 22700 JE4. Omm m *okk
aNG— b4 F I\ F7—F R SCP2P %2700 [E4. 5mm m i
=010 el YA B4 I\ F7—F R SCP2P 22700 JE5. 3mm m *okk
=1 2 sl WA P I\ F7—F R SCP2P %2700 [£6.Omm m i
=010 el YA B4 I\ F7—F R SCP2P 22700 7. Omm m *okk
=1 2 sl WA P4 I\ F7—F R SCP2P %3000 [£2. 7mm m i
=010 el YA B4 IS\ F7—F R SCP2P 23000 [E3. 2mm m *okk
=1 % sl WA P4 I\ F7—F R SCP2P %3000 [E4. Omm m i
=010 el YA B4 IS\ F7—F R SCP2P %3000 [£4. 5mm m *okk
=1 2 sl WA P4 I\ F7—F R SCP2P %3000 [E5. 3mm m i
=010 el YA B4 IS\ F7—F R SCP2P 23000 6. Omm m *okk
=1 % sl WA P4 I\ F7—F R SCP2P %3000 [£7.O0mm m i
=010 el YA B4 IS F7—F R SCP2P %3700 [£2. 7Tmm m *okk
=1 2 sl WA P4 I\ F7—F R SCP2P %3700 [E3.2mm m i
=010 el YA B4 IS\ F7—F R SCP2P 23700 [£4. Omm m *okk
=1 2 sl WA P I\ F7—F R SCP2P %3700 [E4. 5mm m i
ANTF—brR1T I\ F7—F R SCP2P %3700 JE5. 3mm m *okk
=1 2 sl WA P I\ F7—F R SCP2P %3700 [£6.O0mm m i
=010 el YA B4 IS\ F7—F R SCP2P %3700 7. Omm m *okk
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| sl WAL 274 M#Z1%  SCP1R #2400 m -
=% el VAVE P27 F#Z1%  SCPIR %500 m -
] 2 sl A w274 M#z1%  SCP1R #2600 m i
= )| el WAL 27 Mfz1#z  SCP1R %800 m ok
] 2 sl WA w274 M#Z1%  SCP1IR %1000 m i
=] el WADE P27 M#Z1%#  SCPIR %1200 m otk
] 2 sl WA w274 M1 SCP1IR %1350 m i
= | el WAL 27 MAfz1#2  SCP1IR %1500 m ok
] 2 sl WA w274 M#Z1%  SCP1IR %1650 m i
= | el WAL 27 Mfz1#  SCP1IR %1800 m ok
] 2 sl WA w274 M#22% SCP2R %1500 m il
= | el WAL 27 Mfz2%  SCP2R %1750 m ok
] 2 sl WA w274 M#22% SCP2R %2000 m i
= | el WAL 27 Mfz2%  SCP2R %2500 m ok
) 2 sl WA w274 M#22% SCP2R %3000 m i
] 2 el WAL w27 Mfz2%  SCP2R %3500 m kK
] 2 sl WA w274 IS TF7—FH SCP2P %2000 m 11, 000
o ] 2 el WAL 27 N TF7—FH SCP2P %2300 m 13, 200
] 2 sl WA w274 IS TF7—FH SCP2P %2700 m 13, 800
o ] 2 el WAL 27 N TF7—FH SCP2P #3000 m 14, 400
] 2 sl WA w274 IS TF7—FH SCP2P %3700 m 17,300
r9Ya—L
AN —bUFTYa—L4 ARz 18400 X Z400mm _ #RE1. 6mm (> &) m Forok
LS —bUFTYa—L ARtz 18400 x Z400mm__ 4R/E2. Omm (& > =) m -
QVF—=bUFITYa—L ARtz 12400 x Z400mm_ HRE2. Tmm (& > F) m -
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IAST—=—bUFTYa—L ARz 15600 x Z600mm_4R/E1. 6mm (8 > &) m -
ALE—RUFETY 1—L AR 18600 X Z600mm _4R[E2. Omm (> &) m -
ILAST—bUFTYa—L ARz 15600 x Z600mm _#R/E2. Tnm (8 > &) m -
ALE—RUFETY 1—L AR 18600 x Z600mm  4R[E3. 2mm (> &) m -
IAST—=—bUFTYa—L Dffz FE#Z400mm _ #R/E1. 6mm (8> =) m -
LT —bUFETYa—L4 Dz ME{Z400mm  1R[E2. Omm (8> =) m -
IAST—bUFTYa—L Dftz FE#Z400mm _ #RE2. Tmm (8> F) m -
LT —bUFETYa—L4 Dz ME{Z600mm  1RIE1. 6mm (8o =) m -
IAST—=—bUFTYa—L Dffz FE#Z600mm _ #R/E2. Omm (8 > =) m -
LT —bUFETYa—L4 Dz ME{Z600mm  1RIE2. Tmm (8o =) m -
LT —=—bUFTYa—L Dffz FE#Z600mm _ #R/E3. 2mm (8> =) m -
LS —bUFETYa—L4h Dz ME{Z600mm  1R[E4. Omm (8> =) m -
IAST—=—bUFTYa—L Dffz FE#%800mm _ #R/E1. 6mm (8> =) m -
LT —bUFETYa—L4 Dz ME4%800mm  1R[E2. Omm (8 > =) m -
IAST—=—bUFTYa—L Dffz FE#%800mm _ #R/E2. 7mm (8> =) m -
LT —bUFETYa—L4 Dz ME{%800mm  1RIE3. 2mm (¥ o =) m -
IAST—=—bUFTYa—L Dffz FE#%800mm _ #x/E4. Omm (8> =) m -
LT —bUFETYa—L4 Dz ME4%1000mm  4RIE1. 6mm (8 > =) m -
IAST—=—bUFTYa—L Dffz FE#£1000mm  #R/E2. Omm (& > =) m -
aLE—RUZTY2—L4 Dtz FEfZ1000mm 4R[E2. Tmm (& > =) m -
IAST—=—bUFTYa—L Dffz FE#£1000mm  #R/E3. 2mm (8 > =) m -
LT —bUFETYa—L4 Dz ME4%1000mm 1R[E4. Omm (8 > =) m -
IAST—=—bUFTYa—L Dftz FE#Z1200mm #R/E1. 6mm (8> =) m -
aLE—RUZTY2—L Dtz FEfZ1200mm 4R[E2. Omm (& > =) m -
IAST—bUFTYa—L Dftz FE#Z1200mm  #RE2. Tmm (8 > =) m -
LT —bUFETYa—L4 Dz ME4%1200mm  1RIE3. 2mm (& o =) m -
LT —bUFTYa—L Dftz FE#Z1200mm  #x/E4. Omm (8 > =) m -
ALE—RUFETY1—L ARz 12350 x F350mm _ #RE1. 6mm (& > &) m pobok
aNF—=bUFITYa—LA ARz 15450 x Z450mm_ 4R/E1. 6mm (D > F) m ok
ALE—RUFETY 1—L ARz 18500 x F500mm _ #RE1. 6mm (& > &) m i




